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Mode

Power Voltage

AT-937

50W

AT-937A

65W

200~480℃

<2mV

T900Series

Power 
Consumption

Temperature 
Range

Tip Leakage 
Voltage

Standard Tip 

230VAC/50Hz   110VAC/60Hz

The Soldering Iron Must 
be Use ATTEN Heating Element.

AT-989

65W

standby 
function

sleep function

NO YES YES

NO YES YES

Heater Stainless 
steel heater Ceramic heaterStainless 

steel heater



5. Auto standby function
When the soldering not in use and put the 
soldering iron on the iron holder, it will auto 
standby after 10 minutes, heater is heating up 
to 200 �, pick up the soldering iron and back to 
normal working mode.(P.S. AT-937 without the 
functions)

6. Auto sleep function
In auto standby mode, the soldering station will 
auto sleep after 20 minutes, heater is heating up 
to 100 �, pick up the soldering iron and back to 
normal working mode.(P.S. It will auto sleep when 
not in use machine doesn't operate and turn to 
sleep mode, AT-937 without the functions)

7.The LED indicator light display status 
    when this device is power on

1. The LED indicator light is steady on: Means this 
    device is heating up

2. The LED indicator light is off: Means this device 
    is not heating up(it may mean temperture 
    overshoot, unsuccessfully connecting soldering 
    iron handlle or broken heating core)

3. Breathing state(The LED indicator light turn into 
    lighter from dark then turn into darker, loop): 
    Means this device is under constant temperture.

4. The LED indicator light is flash: Means this 
    device enter into sleep or standby status
    (Only AT-937A,AT-989 have this function).
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Problem 5.


